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§  Kayinvests £1500 in an account paying 3% compound inlerest per year.
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10 Claudia invests £25000 at a rate of 2% per year compound interest.

Calculate the total amount of interest she will have earmed after 5 years.
Give your answer correct to the nearest penny.

“)




image24.png
4 Here are the interest rates for two bank accouns.

Northern Sevings Bank (NSB)

‘Central Alliance Bank (CAB)
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Atthe end of 2 years, the amount in the bank account is £1379.02.
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Atthe end of 6 years, the amount in the bank account is £629.20.

Calculate the annual rate of interest
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4 Rashid invests money into an account which pays a fixed rate of compound interest each year.
The value, £V, of his investment after ¢ years is given by the formula
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Mia wants to borrow £6000 and repay it with interest, after two years.
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Investment A Save £150 per month for 2 years.
2.5% interest is added to the total amount saved.

Investment B Invest £3500
Compound interest is added at 3% per year.

After 2 years, how much more is investment B worth than investment A?
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Mirek invests £6000 at a compound interest rate of 1.5% per year.
He wants to eam more than £1000 interest.

Work out the least time, in whole years, that this will take.
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2 Katy invests £200000 in a savings account for 4 years.
‘The account pays compound interest at a rate of 1.5% per annum.

Caleulate the total amount of interest Katy will get at the end of 4 years.

£

(Total for Question 2 is 3 marks)





image3.png
10 Maric invests £8000 in an account for one year.
Atthe end of the year,intrest is added to her account.

Marie pays tax on this nterest at a rate of 20%
She pays £28.80 tax.

‘Work out the percentage interest ate for the account.
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9 Jean invests £12000 in an account paying compound interest for 2 years.

In the frst year the rate of interest is x%
‘At the end of the first year the value of Jean's investment is £12336

I the scond year therate of inerest s 3%

‘What s the value of Jean's investment at the end of 2 years?

[
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